Drawn

likley 3rd XI

Thackley 3rd XI

212 for 5 (40.0 overs) 208 for 7 (40.0 overs)

0 Minutes.

likley 3rd XI

Batsman
A Fearnley
R Wheeler
C Bott

D Fisher

R Harrison*

T Mountain

J Harrison

0 Minutes.

b J Tate
b J Tate
b J Tate

cJTate b S Tate

b K Byrne 54

not out

not out

S van Berckel+

O Lennard
W Lennard
O Button

Extras

Runs Balls Mins
2 0 0

78 0 0

9 0 0

19 0 0

0 0

33 0 0

1 0 0

10b 2Ib 4w Onb Open 16

Provisional Score For Innings

Penalties awarded following Innings

Total

Bowler
R Clayton
J Tate

C Whitehead

S Tate

K Byrne

OM R
10.0 O
100 0 50
100 2 46
50 0
50 0

Thackley 3rd XI

Batsman

R Clayton*
S Sugden
A Swaine
K Shields
D Heaney+
B Swift

J Downing
J Tate

K Byrne

¢ S van Berckel

not out

¢ S van Berckel

run out (W Lennard)
¢ R Wheeler

not out

212

212 for5

W Wd Nb S/r Econ
54 0 0(0) 0(0) 0.00 5.40
3 0(0) 0(0) 20.00 5.00
0 0(0) 0(0) 0.00 4.60
22 1 0(0) 0(0) 30.00 4.40
28 1 0(0) 0(0) 30.00 5.60

Runs Balls Mins

b R Harrison 48
b T Mountain 7
b R Wheeler 73
b R Harrison 30

23
b R Harrison 0
4
7

b R Harrison

Total Cricket Scorer by TCS 27 Limited
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Thackley 3rd Xl won toss and decided to field

6s

o O o o o o o

Sir
0.00
0.00
0.00
0.00
0.00
0.00
0.00
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3rd XI Conference B llkley 3rd Xl v Thackley 3rd XI

Sunday, April 28 2013 (20:47) at likley

Sir
0.00
0.00
0.00
0.00
0.00
0.00
0.00
0.00
0.00

Page 1 of 2



S Tate
C Whitehead

Extras

8b 4lb 3w Onb Open

Provisional Score For Innings

Penalties awarded following Innings

Total

Bowler

J Harrison

T Mountain
W Lennard

O Button

R Harrison 1

R Wheeler

Match Report

6.0
7.0
6.0
3.0
0.0
8.0

o o o o

R W Wd
25 0 0(0)
23 1 0(0)
30 0 0(0)
19 0 0(0)
47 4 0(0)
52 1 0(0)

Weather: Drizzle Pitch: Damp

Umpires: J Pratt D Tempest

Total Cricket Scorer by TCS 27 Limited

Nb
0(0)
0(0)
0(0)
0(0)
0(0)
0(0)

Sir
0.00
42.00
0.00
0.00
15.00
48.00

Total Cricket Scorer

15
208
0

208 for7

Econ
4.17
3.29
5.00
6.33
4.70
6.50
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